aAebau JUNOD S9 ‘921P Y3 JO aNnjeA [e10} :buliods

*921p YBIS Y3 J0J SMOIY] USSUIY] JO WNWIXeW e dAeY NOA

*921p USASS Bululewal a3 JO Ydea Joj Jduuew awes ayj ul
Pa320.d "1INS31 3Y3 YIIM Palysiies ale NoA |13un a1p 1sd1y 9yl ModyL

T )
1})- o2
3 X

SS9 00ST

‘aAREbaU JUNOD S9 ‘921 Y3 JO SNjeA ay) [e30] :buliods
*S19S J4N0J BY3 JOJ SMOIY] SUIU JO WNWIXeW & dA_Y NOA

*921P OM} JO 39S YHNO4 pue pJdiyl ‘puodas ay3 104 Jauuew
Swes syl Ul pe9d0ld "INSaJ 3Y1 YlIM palsies aue nok [iun
221p om] JO 39S

o 1S4l @Yl modyL
$ ’%’ SauBi 00y

L I 1 ]

"92IPp USZ0J4 ||e 4O aN|eA |e303 3s3q :huLI0dS
'sydwianie 921y} aAeY NoA *Bwil} Aue je 310dS

03} 9PIJAP ULD NOA "SN|eA Ppo ue yim adIp
(s)

0€ 82 9C ¥T 2T 0Z 8T 9T ¥1 CI 01

‘paJ3SeWw sem yd1ym 3ybiay wnwixew ay3 :buiods

"JyBIaY JUBLIND Y} SPISIXD JO [enbd 03 JIP DAl [|e MOIYL
Y618y yoea 1oy sydwaiie 931y3 dAeY NOA

"3 diXs 03 ap12ap ued 10 YBIBY Ydoes 1oy

S uiny axey s1aheld “uiny yoes z Aq pasealdul

si pue 0T Jo 16tey 3t 1e suess buidwnl duunf YBjH

/. 9z93.) AJUO UBD NOA "MOJY3 Yded je dIp Suo
1Se9| Je 92934 ISNW NOA "AIP XIS YIM Hels
uj|one(
‘passisew sem yaiym ybBray wnwixew syy ‘Buoss 8 OV by €V Ob
ST Aue Inolim 3ybay Jusun>  9e Qe € ZE O
ay3 spaadxa Jo [enba 03 221p
. 1yb612 03 om3 mouyl ybiay yoea sz 9Z vz ZZ oz

103 sxdwane sauy aney nox udps STOTYTCTOT

03 9p129p ued Jo YBIdy yosea 1oy uiny
ey} suake|d "uiny yoea g Aq pasealdul . 8
JINeA-9J0d S!PueoT o ybIaY ay3 e suels buidwn(

H ‘ '901p UMOJU] |[e JO

an|eA |ej03 3saq :huULI0dS

'sydwane 92143 aAey nox “1dwaiie pljeAul

ue Jayns NoA T e mouyy noA §| swiy Aue
1€ 2102S 0} 9pIIAP

ued NoA 43430 ay}

19)Je 3Ip SUO MOIYL

= L]

"3DIp USZ0J} ||e JO BN|eA 2303 358q :BUlI0dS

‘sydwianie 9a1y3 9AeY NOA
®

‘ H H -dwin( ur uazouy 221p ||e Jo
anjeA |e3jo3 3saq :BullodS
@ ‘sydwaiie 924yl dAeY NOA "MOUY] Yyded je
S1p SUO 1SE3| Je 9z ISNW NOA "IDIP UDZOLY
AN yaim els :dwnf "aJow Jo 6 S| [e30] 3DIp udZoly
W 31 pllEAU] "MOJY3 ydes je aIp ’
% +l § 9 BUO Ises| 18 929344 ISNW NOA
"221p DAl YIM 1S dn-uny dwnf Buo'|

AN

aw} Aue 3e 210S 03 BPIIAP UL NOA
. "3N[_A USAS Uk UM D1p 92931y Ajuo
ued NOA "MOJY3 Ydea Je 3Ip U0 Ised)
snasig
*22Ip dAl} ||€ JO aNn|eA [e30} :HulI0dS
‘}INSaJ 23U} YIM palysizes ale nok jiun
‘sawll 9 03 dn ‘22Ip dAl [|e MOJYL

e 929314 ISNW NOA "ADIP dAY YIIM HeIS

)
SoIpInH 330W T EE

"9A3eB63U JUNOD S9 “@D1P B3 JO AN|EA [230) BULI0DS
'S19S U300 10§ SMOIL} UDASS JO LWNWIXEW € dABY NOA
JBUURW SWES dY3 Ul pa20.d pue 3DIp INoy JBY30
3U3 MOJY3 UYL "}NS3I Y}

UM paysiies a1e nok |iun
— 921 N0} I511) BYY MOIYL .
S3JI3N 001

‘panJasal SIYBL ||y "BIZIUY JaUlRY U @ WOD'RIZIUY'MMM e S3|NJ 9319|dwo)
"J9pneo o113 Aq ubisap 193ys 21005

UO[U3823( S,2iZIUY JaL

Sal ODS um smouoq 1S0W YMm Jakeld ‘|epaw Janaqg ay3 396 (e siaked pail] “auldidsip yoes Joy

EN

(4nouoy T) 9zuouq Jo (Sinouoy ) J3A|IS ‘(sanouoy €) pjob 396 :(siaheld asow) diysuoidweyd
‘uoniadwod ay3 suim sjuiod Jo [e303 3saybiy ay3 yum Jakeid ayy suididsip yoea ui ajqissod
se sjulod Auew se 2102s 03 A1y suahe|d syl uaAe|d ydea 1oy 393Ys 2100s e pue uad e ‘Ip 8

pa3u Noj 'stahe|d 7 03 T YIM 352g JuaAd dIdWA|Q By} Joye pajspow saweb 221p 1ulw UsL

:oweN

Name:

Ten mini dice games modeled after the Olympic event. Best with 1 to 4 players. You need
8 dice, a pen and a score sheet for each player. The players try to score as many points as
possible in each discipline. The player with the highest total of points wins the competition.

Championship (more players): get gold (3 honours), silver (2 honours) or bronze (1 honour)

for each discipline. Tied players all get the better medal. Player with most honours win. SCO res

Reiner Knizia's Decathlon

Score sheet design by Eric Gaudet.
Complete rules at www.knizia.com © Dr. Reiner Knizia. All rights reserved.

100 Metres N
. Throw the first four dice — :
until you are satisfied with

the result. Then throw the

other four dice and proceed in the same manner.
You have a maximum of seven throws for both sets.
Scoring: total value of the dice, 6s count negative.

gé 110 Metre Hurdles
x5
()
Throw all five dice, up to 6 times,

W,
LOng Jump Run-up: Start with five dice. 3
You must freeze at least one x5

e
N

die at each throw. Invalid if NN @
frozen dice total is 9 or more. Jump: Start with WM
frozen dice. You must freeze at least one die @ §: 1+ }
at each throw. You have three attempts.
Scoring: best total value H H NN

of all dice frozen in jump.

until you are satisfied with the result.

Scoring: total value of all five dice.
Start with five dice. You must freeze at Discus

3 % least one dielat eaph throw. You can
only freeze dice with an even value. .
You can decide to score at any time.
You have three attempts.
Scoring: best total value of all frozen dice.

I I

Throw one die after

Shot Put
the other. You can

' decide to score at
any time. If you throw a 1 you suffer an
invalid attempt. You have three attempts.
Scoring: best total value
of all thrown dice. ‘ H H

Jumping starts at the height of 10 and is P0|e-V3U|t
3 increased by 2 each turn. Players take
turn for each height or can decide to
skip it. You have three attempts for
%8 %% %z %g %g each height. Throw two to eight .
dice to equal or exceeds the
30 32 34 36 38 current height without any 1s.
4042444648 scoring: the maximum height which was mastered.

High jump Jumping starts at the height of 10 and is

increased by 2 each turn. Players take turn 3
. for each height or can decide to skip it.

You have three attempts for each height.

Throw all five dice to equal or exceeds the current height.

Scoring: the maximum height which was mastered.

10 12 14 16 18 20 22 24 26 28 30

o Javelin
3 E Start with six dice. You must freeze at least
2dd S one die at each throw. You can only freeze ./
dice wi Y

ice with an odd value. You can decide to
score at any time. You have three attempts.
Scoring: best total value of all frozen dice.

1 T |

400 Metres
. Throw the first %_ E 5

set of two dice

until you are satisfied with the result. Proceed in the same
manner for the second, third and fourth set of two dice.
You have a maximum of nine throws for the four sets.
Scoring: total the value of the dice, 6s count negative.

1500 Metres

X
‘%_oo

Throw the first die until you are satisfied with the result. Proceed
in the same manner for each of the remaining seven dice.

You have a maximum of thirteen throws for the eight dice.
Scoring: total value of the dice, 6s count negative.




